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Try these examples.

o the diagrams that follow, O is the center of the circle.
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10. Sketch a circle with two noncongruent chords. Is the longer chord farther

from the center or closer to the center than the shorter chord? CLO:E/Q
11. Sketch a circle O with radius 10 and chord XY 8 cm long. How far is the

chord from O? QYET MM{‘E
12. Sketch a circle Q with a chord RS that is 16 c¢m long and 2 cm from Q. i

What is the radius of ©Q? ' _ Qﬁ bg,\,{'fﬁ 5
13. Sketch a circle P iv_i_th radius 5 cm and chord AB that is 2 ¢cm from P. o

Find the length of AB. ey (}g;ﬁ,{%ﬁj
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Use trigonometry to find the measure of the arc cut off by a chord 12 cm
long in a circle of radius 10 cm.
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In QO mRS = 70 and RS = 20. Use trigonometry to find the radius of

Q0.

A, B, C are points on QO such that AABC is equilateral. If the radius

of the circle is 6, what is the perimeter of AABC? /
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